

			Vendor Ranking		Page 1 of 1
Letting:	04231103	November 03, 2023 10:30 AM	Call Order: 007	Contract:	E4X06-R0
District:	District 4		Counties: DIST/ST-WIDE	Fed Aid No	b: N/A
Contract Time:	365 CALENI	DAR DAYS		Project(s):	45341017201 (*)
Contract Desc:	TREASURE	COAST OUTFALLS - ROUTI	NE MAINTENANCE		

Ranl	k Vendor	Bid Type	Bid Status	Total Bid	Percent Of Low Bid
1	ENVIRONMENTAL LAND DEVELOPMENT	Responsive	Winning bid	\$79,431.85	100.00%
2	HIGHER GROUND LAND SERVICES, LL	Responsive	Non-Winning Bid	\$118,805.13	149.57%
3	ROGAR MANAGEMENT & CONSULTING OF FLORIDA LLC	Responsive	Non-Winning Bid	\$153,752.64	193.57%
4	MIDWESTERN CONSTRUCTION, INC	Responsive	Non-Winning Bid	\$350,127.47	440.79%
5	SHENANDOAH GENERAL CONSTRUCTION, LLC	Responsive	Non-Winning Bid	\$438,346.28	551.85%
	NOTE: Failure to file a protest w 120.57(3), Florida Statutes, or fa	ailure to post the	e bond or other security		

120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.

NOTICE TO INTENT TO AWARD WAS POSTED:	BEGIN DATE :	11/28/23	BEGIN TIME:	10:30 AM
	END DATE:	12/01/23	END TIME:	10:30 AM

NOTE: The award amount and contract performance bond shall be based on the Department's advertised estimate amount of \$ 100,000.00 and not the contractor's bid total.



Tabulation of Bids

Page 1 of 6

Letting:	04231103	November 03, 2023	Call Order:	007	Contract: E4X06-R0
District:	District 4		Counties:	DIST/ST-WIDE	Fed Aid No: N/A
Contract Time:	365 CALENE	DAR DAYS			Project(s): 45341017201 (*)

Contract Descr: TREASURE COAST OUTFALLS - ROUTINE MAINTENANCE

The work under this Contract consists of ditch cleaning, conveyance system re-shaping and drainage repair of state-owned ditches and structures within the right-of-way along the Primary Roadways in Martin, St Lucie and Indian River Counties.

•ADVERTISED ESTIMATE: The award amount and contract performance bond shall be based on the Department s advertised estimate amount of \$100,000.00 and not the contractors bid total.

•PERFORMANCE BOND: A Contract / Performance bond is required for this project.

PLEASE READ STANDARD SPECIFICATIONS FOR ROAD AND BRIDGE CONSTRUCTION FY 2023-24 (SECTION 7-13) FOR INSURANCE LIMITS.

Line No / Item ID Alternate Item Description	Quantity Units	(1) ENVIRONM DEVELO		(2) HIGHER GR SERVIC		CONSULTING	ANAGEMENT &
() indicates item is bid as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount		_C Ext Amount
SECTION: 0001 (SC	DDDING (SY						
0005 0104 10 3 SEDIMENT BARRIER	380.000 LF	4.50000	1,710.00	3.75000	1,425.00	4.00000	1,520.00
0010 0104 11 FLOATING TURBIDITY BARRIER	775.000 LF	5.00000	3,875.00	10.00000	7,750.00	1.00000	775.00
0015 0104 12 STAKED TURBIDITY BARRIER- NYLON REINFORCED PVC	300.000 LF	10.00000	3,000.00	11.00000	3,300.00	1.00000	300.00
0020 0104 18 INLET PROTECTION SYSTEM	80.000 EA	35.00000	2,800.00	43.50000	3,480.00	10.00000	800.00
0025 0120 6 EMBANKMENT	80.000 CY	45.00000	3,600.00	23.50000	1,880.00	101.00000	8,080.00



11/07/2023

Tabulation of Bids

Page 2 of 6

Letting:	0423110	3 Nov	ember 03, 2	2023 Ca l	l Order: 007		Contract:	E4X06-R0	
Line No / Ite Item Descrij		ternate	Quantity Units	(1) ENVIRONM DEVELO		(2) HIGHER GI SERVIC		(3) ROGAR MA CONSULTING	OF FLORIDA
	m is bid as Lum	ip Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	C Ext Amount
SECT	ON: 0001	(SC	DDING (SY						
0030 0120 9 DITCH CLEARI VEGETATION,	IG OF LARGE		1,200.000 LF	7.99000	9,588.00	8.50000	10,200.00	15.61000	18,732.00
0035 0120 S DITCH CLEARI VEGETATION,	IG OF LARGE		1,200.000 LF	8.20000	9,840.00	11.75000	14,100.00	15.61000	18,732.00
0040 0120 9 DITCH CLEARI VEGETATION, 1 THAN 30'	IG OF LARGE	Ξ	1,000.000 LF	8.40000	8,400.00	20.00000	20,000.00	15.61000	15,610.00
0045 043099 MITERED END MAINTENANCE	SECT, REPLA	ACE SLAB-	12.000 CY	499.00000	5,988.00	1,200.00000	14,400.00	3,000.00000	36,000.00
0050 0530 3 RIPRAP- RUBB		D SHORE	5.000 TN	249.00000	1,245.00	525.00000	2,625.00	500.00000	2,500.00
0055 0530 7 BEDDING STO			4.000 TN	249.00000	996.00	180.00000	720.00	500.00000	2,000.00
0060 E110 CLEARING & G			2.000 AC	4,800.00000	9,600.00	1,200.00000	2,400.00	10,000.00000	20,000.00
0065 E120 1 CLEAN AND RE (SPREAD)			1,498.000 LF	3.75000	5,617.50	10.00000	14,980.00	4.00000	5,992.00



_

Tabulation of Bids

Page 3 of 6

Letting	g: 0₄	4231103	November 03,	2023 Ca l	l Order: 007		Contract:	E4X06-R0	
	No / Item ID Description	Alternat	e Quantity Units	(1) ENVIRONM DEVELO		(2) HIGHER GR SERVIC		CONSULTIN	ANAGEMENT & G OF FLORIDA
	dicates item is bi	d as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	I Unit Price	LC Ext Amount
	SECTION:	0001	(SODDING (SY						
0070 CLEAN	E120 10 2 AND RESHAF	Pe Ditch (Ha	1,499.610 .UL) LF	6.80000	10,197.35	12.50000	18,745.13	8.6100) 12,911.64
0075 SODDIN	E575 1 NG		700.000 SY	4.25000	2,975.00	4.00000	2,800.00	14.0000	9,800.00
	0001 SO	DDING (SY) S	Section Totals:		\$79,431.85		\$118,805.13		\$153,752.64

Contract Grand Totals:	\$79,431.85	\$118,805.13	153,752.64



Tabulation of Bids

Page 4 of 6

Letting: 04231103 No	vember 03, 2	2023 Cal	l Order: 007		Contract:	E4X06-R0	
Line No / Item ID Alternate Item Description	Quantity Units	(4) MIDWI CONSTRUC		(5) SHENANDO CONSTRUC			
() indicates item is bid as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 (S							
0005 0104 10 3 SEDIMENT BARRIER	380.000 LF	8.00000	3,040.00	4.00000	1,520.00		
0010 0104 11 FLOATING TURBIDITY BARRIER	775.000 LF	40.00000	31,000.00	15.00000	11,625.00		
0015 0104 12 STAKED TURBIDITY BARRIER- NYLON REINFORCED PVC	300.000 N LF	25.00000	7,500.00	6.00000	1,800.00		
0020 0104 18 INLET PROTECTION SYSTEM	80.000 EA	400.00000	32,000.00	150.00000	12,000.00		
0025 0120 6 EMBANKMENT	80.000 CY	150.00000	12,000.00	30.00000	2,400.00		
0030 0120 9 1 DITCH CLEARING OF LARGE VEGETATION, DITCH WIDTH UP TO 1	1,200.000 LF 5'	45.00000	54,000.00	50.00000	60,000.00		
0035 0120 9 2 DITCH CLEARING OF LARGE VEGETATION, DITCH WIDTH 15-30'	1,200.000 LF	55.00000	66,000.00	70.00000	84,000.00		
0040 0120 9 3 DITCH CLEARING OF LARGE VEGETATION, DITCH WIDTH GREATE THAN 30'	1,000.000 LF R	70.00000	70,000.00	80.00000	80,000.00		



Tabulation of Bids

Page 5 of 6

Letting: 0	4231103 No	ovember 03,	2023 Cal	l Order: 007		Contract:	E4X06-R0	
Line No / Item ID Item Description	Alternate	Quantity Units	(4) MIDW CONSTRUC		(5) SHENANDO CONSTRUC			
() indicates item is b	id as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION:	0001 (S	SODDING (SY						
0045 0430991 1 MITERED END SECT MAINTENANCE USE		12.000 - CY	2,500.00000	30,000.00	1,250.00000	15,000.00		
0050 0530 3 3 RIPRAP- RUBBLE, B	ANK AND SHORE	5.000 TN	1,650.00000	8,250.00	860.00000	4,300.00		
0055 0530 74 BEDDING STONE		4.000 TN	900.00000	3,600.00	550.00000	2,200.00		
0060 E110 2 CLEARING & GRUBE	BING	2.000 AC	4,250.00000	8,500.00	9,500.00000	19,000.00		
0065 E120 10 1 CLEAN AND RESHA (SPREAD)	PE DITCH	1,498.000 LF	5.00000	7,490.00	40.00000	59,920.00		
0070 E120 10 2 CLEAN AND RESHA	PE DITCH (HAUL	1,499.610) LF	6.50000	9,747.47	48.00000	71,981.28		
0075 E575 1 SODDING		700.000 SY	10.00000	7,000.00	18.00000	12,600.00		
0001 SC	DDING (SY) Sec	tion Totals:	I	\$350,127.47		\$438,346.28		

Contract Grand Totals:

\$350,127.47



			Tabulatior	n of Bids			Page 6 of 6
Letting:	04231103	November 03, 2023	Call Order:	007	Contract:	E4X06-R0	
		120.57(3), Florid	la Statutes, or fail	lure to post the	escribed in section bond or other security a bond shall constitute		

a waiver of proceedings under chapter 120, Florida Statutes.